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Part | Listening Comprehension (20 minutes, 20 points)

Model Test 1

Paper One

Section A

Directions: In this part, you will hear 10 short conversations between two speakers. At
the end of each conversation, a question will be asked about what was said. The question
will be spoken only once. Afier you hear a conversation and the question about it, read the
four possible answers and decide which one is the best answer to the question you have

heard. Then on your answer sheet, find the number of the question and mark the letter

that corresponds to the letter of the answer you have chosen.

1.

PO 0WEOO0® P00 ® e

She is willing to go.

She refuses the man’s proposal.

She feels sorry since she can’t go.

She has never heard of white-water rafting.

The woman is going to buy a new car.

The woman’s old car was not functioning properly.
The woman’s new car has a problem.

The woman doesn’t have to drive in heavy traffic.
Classical music bores him.

Rap music is not as good as classical music.

He prefers classical music to rap music.

He prefers rap music to classical music.

12.15. B. 12:45. C. 1:00. C. 2:00.
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She must finish the report before noon.

She will take a short break.

Taking a break is just what she needs.

Working long hours has hurt her neck.

The man is a computer programmer.

The man is a meteorologist.

The man works at a TV station.

The man teaches computer science.

He wants to recover from his physical exhaustion.
A weight problem is troubling him.

Aerobic dancing is an easy exercise.

It” s the only exercise available in the center.
They are doing weight lifting.

They are walking to their campsite.

They are watching the stars.

They are resting at their campsite.

His teacher expects too much from his students.
His work is not recognized by the teacher.

His teacher has no right to complain.

PO FEEEO®EDOREPTO®E0 0D

The homework assignment is hard for him.
10. A. The man’s speech is on conversational language.

B. The man knows how to speak smart in public.

€. The woman is the man’s tutor.

D. The woman is more experienced in public speaking.
Section B
Directions: /n this section, you will hear one interview and two passages. At the end of
the interview and each passage, there will be several questions. You will hear the
interview , two passages and questions only once. After you hear each question, choose the

best answer from the four choices. Then on your answer sheet, find the number of the



question and mark the letter that corresponds to the letter of the answer you have chosen.

Questions 11 through 13 are based on the following interview.
11. A. Whether children could go to primary school.

Whether children could graduate from primary school.

ft divided eleven-year-old children into two groups.
Students with good scores could get further education.

12. It’ s like the conventional grammar school.
It takes students of different age groups.
More subjects are taught in this system.
The students’ levels vary in this system.
13. The size of a class is big.

The new system can’t fully replace the old system.

Students have no knowledge about society.

DO ®E T O0®ET 0

Students don’ t enjoy learning.

Questions 14 through 16 are based on the following passage.
14. A. Ancient people worshipped Gods in the caves.

B. The caves protected people from coldness.
People lived inside the caves in hot summer.
People stored food in the caves.
15. A. Historians want to excavate the caves.
People visit here to worship Gods.
People come to enjoy the beautiful view.
Many legends are associated with caves.
16. Volcanoes erupt regularly in these areas.

The caves here are formed in many different ways.

These states attract overseas tourists.

DO R PO O0 D0

Great beds of limestone are found here.

WHERESR-BRE O
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Questions 17 through 20 are based on the following passage.

17. A.
B.
C.
D.
18. A.
B.
C.
D.
19. A.
B.
C.
D.
20. A.
B.
C.
D.
Part II

How to detect criminals fast.

Detecting criminals through fingerprints.
Different types of fingerprints.
Fingerprints are used for various purposes.
Over a hundred years ago.

Hundreds of years ago.

In the 1980s.

No historical record is available.

The Chinese.

Dr. Henry Fauld.

Sir Francis Galton.

Sir Edward Henry.

Criminal detection is more accurate.

Counting the ridges of one fingertip is enough.

Crime detection is much faster.

It’ s accurate though it takes a longer time.

Cloze Test

(10 minutes, 15 points)

Directions: Read the passage through. Then go back and choose one suitable word or

phrase marked A, B, C or D for each blank in the passage. Mark the corresponding letter

on your Answer Sheet.

Let us set out from a fact. The same type of civilization, or to use a more exact,

although more extended expression, the same society, has not always inhabited the

earth. The human race as a whole has grown, has developed, has 21 | like one of

ourselves. It was once a child; it was once a man; we are now _ 22 at its impressive
old age. Before the epoch which modern society has dubbed ( #--+--- IRFRA) “ancient”
there was another epoch which the ancients called “fabulous” ( B = AR, IS M H)



but which would be more accurate to call “ 23 7. Observe then three great 24
orders of things in civilization, from its origin down to our days. Now, as poetry is
always superposed( B HlIEE - ) upon society, we propose to try to 25, from the
form of its society, what the character of the poetry must have been in those three great
__ 26 of the world—primitive times, ancient times, modern times.

In primitive times, when man awakes in a world _ 27 _ is newly created, poetry
awakes with him. _ 28  the marvelons things that dazzle him, his first speech is a
hymn simply. He is still so close to God that all his thoughts are joyful, all his dreams
are _29 . The earth is still almost 30 . There are families, but no nations;
patriarchs, but no kings. Each race exists _ 31  its own pleasure; no property, no
laws, no _ 32 |, no wars. Everything belongs to each and to all. Society is a
community. Man is 33  in naught, He leads that nomadic (¥ ) pastoral life
with which all civilizations begin, and which is so well _34  solitary contemplation, to
fanciful reverie( £J48 ). He follows every suggestion, he goes hither and thither, 35
His thought, like his life, resembles a cloud that changes its shape and its direction

according to the wind that drives it. Such is the first man, such is the first poet.

21. A. mastered B. matured C. mattered D. measured
22.\A/ looking into B. looking out C. looking on D. looking round
23. A. primitive B. ancient C. modern D. backward
24. A. successive B. subsequent C. subsidiary D. successful
25. A. illustrate B. demonstrate C. overstate D. understate
26. A. eras B. periods G- stages D. ages

27. A. whose 8., what C. that D. this

28. A. In the face of B. In the process of C. In the event of D. In the case of
29. A. realities B. imaginations C. illusions D. visions

30. A. desserted B. deserted L. desserting J. deserting

31. A. in B. at C. on D. for

32. A. comments B. contents C. contentions D contexts

33. \5. restrained B. retained C. refrained D. refined
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34. A. adopted B. adopting C. adapting D. adapted
35. A. at fault B. at random C. at ease D. at least
Part [ Reading Comprehension (30 minutes, 20 points)

Directions: In this part, there are four passages for you to read. Read each passage
carefully, and then do the questions that follow. Choose the best answer A, B, C, or D

and mark the corresponding letter on your Answer Sheet.

(1)

James Louvan works at a private research group—the Families and Work Institute
in New York. Mr. Louvan says the increase in single-parents is the result of two major
changes in American society. One change is the increase in mothers who work outside
the home. The other change is the new way of thinking about what it means to be a
father. American fathers now have a greater part in the lives of their children. Mr.
Louvan notes that 31 years ago almost no fathers attended the birth of their children.
Today more than 90 percent of all fathers are present when their children are born.
American fathers also spend more time caring for their children now. Caring for children
is no longer considered just women’ s work.

Most single-parent families result when a marriage ends in divorce. In most cases
the divorced parents decide who will have the children. About 85 percent of children
live with their mothers after divorce. However, more divorced men want their children to
live with them. Sometimes a divorce causes a dispute about who will care for the
children. In these cases a judge decides. In an increasing number of disputes, a judge
orders that both parents share the children. Usually the children will live with one
parent, both the mother and the father will take part in decisions affecting them. In
other cases the children will live with the mother part of the time, and with the father
part of the time. Frank and his divorced wife, for example, share responsibility for
caring for their 6-year-old daughter. The little girl lives with Frank for 10 days, then she

lives with her mother for 10 days.



36.

N

37.

38.

39.

40.

Who is Mr. James Louvan?

A

B.
C.
D.

He is a private researcher who tries to improve the situation of single-parent
families.

He is a single-parent father who has two children.

He is the director of the Families and Work Institute.

He is a researcher who studies the single-parent families in the United Sates.

It can be inferred that in the past,

A.

\B.
C.

D.

many single-parent families were brought about by women working out of the
home

American mothers stayed at home to take care of the family

American fathers refused to offer help or care when their babies were born

disputes about the responsibility of raising children cause people to divorce

What is true of the contemporary American fathers?

A,
B.
C.
D.

They agree with their wives on the latter’ s working outside the home.
They are confused about what they can do as a father.
They have more responsibility in the lives of their children.

They no longer think it is women’ s duty to take care of children.

After divorce, most children live

A.
B.
C.
D.

at the group of the Families and Work Institute
with the party who would like to care for them
with their mothers in the single-parent families

with their mothers and fathers alternatively

The example of Frank is cited in order to

A

B

C
2.

. prove that fathers should have more responsibility in raising children
. argue that more divorced parents should follow the example

. point out that the judge sometimes makes poor decisions

show there are cases of divorced parents sharing the duty of caring for children

(2)

More and more Americans are taking a chance—they are starting their own

XROUFHTHEHRHFHOERSRTERE O
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business. Each year more than 100 thousand new businesses are formed in the United
States. Americans want to own a business for several reasons. People who own a
business do not have to take orders from anyone. They can work at something they
enjoy. They are motivated by the possibility that they will be able to earn more money.
They can set their own goals and plan their own workdays. And they can gain a feeling
of success by reaching their goals. Owning a business can be very difficult, however.
People who own a business often have to work more than 12 hours per day, even on
weekends and holidays. They may have little time to rest or be with families and
friends. They may not earn much money in the first few years. Their business may fail.
They may lose all the money they invests:d and maybe other people’ s money as well.

Yet more and more Americans are deciding to become business owners. Experts say
people who want to start a business should take several steps. First they should decide
what kind of business they want. They should start a business dealing with something
they know about. Then they should -study the market and the competition as they should
make sure that their idea for a product or service will fill a need for a group of buyers.
Next they should get advice_f}Rm people with experience and knowledge. These people
should include financial experts, lawyers, bankers and other business owners. Then
people starting a business should make a business plan. A good business plan includes
detailed information about how the business will operate and how much money will be
needed. New business owners then must provide the money from their own savings, from
investors or from a bank.
41. The passage is mainly about

A. the advantages of starting a business

B. the steps to start a business

C. the American economy

‘Q./ owning one’ s own business
42. Which is NOT mentioned as a reason why people start their own business?

ﬁ. Being the hoss, the owners have the right to give orders to his employees.

B. The owners do what they really wants to do in life.



C. 1t is possible for the owners to have flexible schedule of workday.
D. Successful business brings true happiness to the owners.
43. According to the passage, the first thing for people starting their business to do is
A. to borrow enough money to invest in the business
\B. to make sure what business they are going to do
C. to do business with people they are familiar with
D. to go to business school and acquire academic knowledge about the market
44. How can new business owners get advice?
A. From business books and journals.
B. From learning from their own lessons.
\(}»"me the professional people and experienced businessmen.
D. From the feedback of the buyers and customers.
45. Which is a correct statement about the business plan?
A. It should show the owner’s full understanding and knowledge of the business.
B. It must be previously approved by lawyers and experts.
C. It should not be revealed to other businessmen.
D

. The new business owners need a large sum of money to get the plan.

(3)

Although most universities in the United States are on a semester system, which
offer classes in the fall and spring, some schools observe a quarter sysfem comprised of
fall, winter, spring, and summer quarters. The academic year, September to June, is
divided into three quarters of eleven weeks each beginning in September, January, and
March; the summer quarter, June to August, is composed of shorter sessions of varying
lengih.

There are several advantages and disadvantages to the quarter system. On the plus
side, students who wish to complete their degrees in less than the customary four years
may take advantage of the opportunity to study year round by enrolling in all four

quarters. In addition, although most students begin their programs in the fall quarter,

FHLGNE BB TR SR BRSO
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they may enter at the beginning of any of the other quarters. Finally, since the physical
facilities are kept in operation year round, the resources are used efficiently to serve the
greatest number of students. But there are several disadvantages as well. Many faculty
complain that the eleven-week term is simply not long enough for them to cover the
material required by most college courses. Students also find it difficult to complete the
assignments in such a short period of time.

In order to combine the advantages of the quarter system with those of the semester
system, some colleges and universities have instituted a three-term trimester system. In
fourteen weeks, faculty and students have more time to cover material and finish course
requirements, but the additional term provides more options for admission during the
year and accelerates the degree programs for those students who wish to graduate early.
46. A semester system

A. has eleven-week sessions

B. is not very popular in the United States

C. gives students the opportunity to study year round

D. has two major sessions a year
47. The word “customary” (line 8) can be replaced by

A. agreeable B. traditional C. lengthy D. limited
48. When may students begin studying in a school that uses a quarter system?
September.

Summer semester only.

At the beginning of any quarter.

S o w

At the beginning of the academic year.
49. The word “them” (line 14) refers to

A. faculty B. weeks C. courses D. material
50. Which of the following characteristics does NOT apply to trimester?

A. They allow students to graduate early.

B. They provide more options for admission.

C. They are long enough to cover the course material.



